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QUESTION 1

Scenario:

Each XenServer host has four 10GB network cards - two bonded for storage and management separated by separate
VLAN, and the two bonded for guest VM networks. The CIO would like to see network traffic distributed across all links
to maximize their utilization. Switches to which the Hypervisors will connect to support 802.3ad.

How should the architect configure the guest VM network?

A. Using active-active bonding

B. Using active-passive bonding

C. Using XenSever MPIO redundancy

D. Using LACP bonding

Correct Answer: B

QUESTION 2

Scenario:

A Citrix Architect is designing a multi-server Provisioning Services solution for CGE. The solution must be
highly available and minimize the risk of vDisk inconsistency. Why does implementing RAID 0 satisfy the
requirements?

A. It provides striping.

B. It provides the highest performance.

C. It provides fault tolerance.

D. It provides minimal disk usage.

Correct Answer: A

QUESTION 3

The architect needs to evaluate the options for replicating user profiles across all sites.

Which two pieces of information should the architect collect to analyze the options? (Choose two.)
A. WAN traffic

B. License requirements

C. Storage infrastructure
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D. Database configuration

Correct Answer: BD

QUESTION 4

How can the architect identify if the Provisioning Services servers are the source of a bottleneck?
A. Identify excessive CPU and memory consumption

B. Identify excessive memory and network utilization

C. Identify excessive CPU and network I/O

D. Identify excessive disk I/O and page file utilization

Correct Answer: C

QUESTION 5

How should the architect specify that the Configuration Logging database be queried?
A. By using the Citrix Director console

B. By using SQL Management Studio

C. By using SQL Reporting Services

D. By using PowerShell

Correct Answer: B

QUESTION 6

Given the current desktop build process, what should an architect recommend on the new virtual platform for this
environment while minimizing the number of required management servers?

A. Continue with current process

B. Use Ghost to clone a master image

C. Use Machine Creation Services to clone a master image

D. Use Provisioning Services servers to create a master target device

Correct Answer: C

QUESTION 7
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Scenario:

A Citrix Architect is designing a multi-server Provisioning Services solution for CGE. The solution must be
highly available and minimize the risk of vDisk inconsistency. How should the architect configure the local
vDisk storage for fault tolerance and high performance?

A. By implementing RAID 0

B. By implementing RAID 1

C. By implementing high-speed local storage with deduplication

D. By implementing RAID 10

Correct Answer: D

QUESTION 8
Scenario:

CGE needs to define its management process for desktop image releases. Some groups need a process

for version control that includes thorough testing prior to production. Why does using Machine Creation Services

facilitate image management?

A. It reduces image deployment time.

B. It reduces the storage requirement for images.

C. It allows for testing updates prior to updating the production machine catalog.
D. It allows for testing updates prior to updating the production Delivery Group.

Correct Answer: D

QUESTION 9

How can the architect identify if the Delivery Controller is the source of a bottleneck?
A. Identify excessive memory and network utilization

B. Identify excessive CPU consumption

C. Identify excessive disk and network 1/0

D. Identify excessive disk I/O and page file utilization

Correct Answer: B
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QUESTION 10

An architect is evaluating the user profile management solution for the desktop and application virtualization solution.
Which two pieces of information should the architect collect? (Choose two.)

A. User time zone

B. User profile size

C. Installed language pack

D. Client device CPU/RAM

E. Application compatibility of profile type

Correct Answer: BE

QUESTION 11

Scenario:

CGE is experiencing numerous issues with its existing profile management solution. The Citrix Architect
managing the project is tasked with designing a solution that alleviates existing issues and, if possible,
minimizes the loss of existing customizations. Configuration changes need to be implemented quickly and
with minimal complexity.

How can Citrix Profile management be configured to allow Sales end-user group profiles to be
standardized with the rest of CGE?

A. Enable \\'Active write back\\

B. Enable file and folder exclusions

C. Enable \\'Offline profile support\\

D. Enable \\'Profile streaming\\'

Correct Answer: C

QUESTION 12

Why does using SysLog help the company comply with its security policy?
A. Because it is a centralized, industry-standard log that is easily queried
B. Because it password-protects the audit logs for added security

C. Because it uses a standard TCP port
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D. Because it collects logs from multiple devices

Correct Answer: A

QUESTION 13

Scenario:

A Citrix Architect is designing a multi-server Provisioning Services solution for CGE. The solution must be
highly available and minimize the risk of vDisk inconsistency.

What should the architect recommend?

A. Configure a separate local vDisk store on each Provisioning Services server and a daily robocopy script across the
two stores.

B. Configure a separate local vDisk store on each Provisioning Services server and configure the two stores in a DFS-R
group.

C. Configure a vDisk store on a CIFS share on a NAS for each Provisioning Services server.
D. Create the Provisioning Services vDisk store on a configured, single DFS namespace.

Correct Answer: BC

QUESTION 14

Which two current licensing issues should a Citrix Architect resolve in CGE\'s new virtualization design? (Choose two.)
A. There are more RDS CALs than Citrix licenses.

B. The Citrix and RDS licenses share the same server.

C. There are many different license servers in the environment.

D. There is a mixture of Enterprise, Platinum, and Advanced Citrix licenses in use.

Correct Answer: CD

QUESTION 15

Why does using Windows Event logs help the company comply with its security policy?
A. Because they are centralized, industry-standard logs that are easily queried

B. Because they use password-protection for added security

C. Because they contain detailed records of user authentication activity

D. Because they collect data from multiple devices
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Correct Answer: A
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